(CrzziiEs))

(HEBY, HEBYSRA) (fEF=C)
@ ® @ @ 3”‘(1(?&):\?;)#;"7‘77 ® @ @ @ 8)'[\7\7%;—1/};5?‘/7
ABR [ZHTU—N T | g ~ae =25 Il AR (B TL—N T | o =25 B
Sl AT VRIS | TS5y p— T Bk 2w DR IES | TSV B AR
HV-4 DP-1 TS-1 | MT2FLTO |FLT-103-S| SC-3H - VUT-6 VTopLTo FLT1048| SC-aH | sK-aH
2 DP-1 TS-1 -
FLT-104-S| SGC-4H SK-4H 0 i _
HV-6 DP-1 | TS-1 | MT2FLTO ATOS [ SC-5H
ALEDE || St - FLT-1-8 | SC-6H | SK-6H
FLT-0-S SC-5H - MT3-FLTO
MT3-FLTO FLT-2-S SC-7H | SK-7H
HV-8 DP-2 Ts-2 FLT-1-S SC-6H SK-BH VUT-10| DP-3 TS-3
- — sC7H SKTH _ ~ SC-8H | SK-8H
FLT-1-S | SC-6H | SK-6H SC-9H | SK-9H
MT3-FLTO |FLT-2-S SC-7H SK-7H FLT-2-8 SC-7H SK-7H
HV-10 DP-3 TS-3 MT4-FLTO
FLT-3-S SC-8H SK-8H FLT-3-S SC-8H | SK-8H
VUT-12| DP-3 TS-3
= = SC-9H SK-9H - - SC-9H | SK-9H
MTafLTo o128 | SC-7H | SK-7H MT4-FLTO |FLT-110-S| SC-10H | SK-10H
FLT-3-S SC-8H SK-8H
HV-12 DP-3 TS-3 ~o.on o
. - VU-100| DP-1 TS-1 | MT2-FLTO |FLT-103-S| SC-3H -
MT4-FLTO |FLT-110-S| SC-10H | SK-10H
FLT-104-S| SC-4H | SK-4H
VTR FLT-2-S SC-7H SK-7H VU-150 DP-1 Ts-1 | MT2-FLTO
FLT-3S | SC-8H | SK-8H FLTOS | SC-5H -
L Y B — - L i FLT-0-S SC-5H -
HV-14 DP-3 TsS-4 SC-9H SK-9H MT3FLTO
MT4-FLTO |FLT-110-S| SC-10H | SK-10H | |VU-200| DP-2 Ts-2 FLT-1-S SC-BH | SK-6H
= = SC-12H SK-12H _ — SC-7H SK-7H
MT4-FLTO |FLT-3-S SC-8H SK-8H
- - SC.9H SK.oH HEA TV DOHHEP.004~P.005E SR IEE L
HV-16 DP-3 Ts-4 K ITUITERILS THYNMIBLTVE T, F—IILEDBFADEICESTIE
MT4-FLTO |FLT-110-S| SC-10H | SK-10H B&T—JILDTERICRUIERILN - THYNDRBELDFRT
- - SC-12H | SK-12H
SC-8H SK-8H
SC-9H SK-9H
HVD-400| DP-3 TS-4 - -
SC-10H | SK-10H
SC-12H | SK-12H
m SironG
o G s HEIREE (0) —
547 i A (ng) szl B| C|D|E|F B &
wm | om@E | M| s W
SC-3H 3 | 86|46 |60 |73[16|4.1|3-M6 |MEX50 | 2500 | 2~ 70 | 24~ 64|17
SC-4H 4 |112|60 |80 | 95|24 |48|3M8 |[M8x65 | 2500 | 3~ 95 | 29~ 84 | 3.7
HRMOMMESTE, Y
BRI U TANEX TR =2 | SC-5H 5 [132|60|100|115|32 |48|3-M8 |M8x65 | 2500 | 3~110 | 33~100 |52
> : . } SC-6H 6 |167|67 |130|147|45 |55|3-M10|M10x70 | 2,000 | 4~160 | 48~150 | 9.3
% J”" SC-7H 7 |192|765/155|172| 58 | 5.5(3-M10|M10x80 | 2,000 | 4~180 | 56~170 |14.2
E l | SC-8H 8 |200|76.5/160|176|58 |5.5(3-M10/M10x80 | 2,000 | 4~190 | 62~180 |16.0
SNmmans | SC-9H 9 |232|84 [190|210| 70 | 6 |3-M12|M12x90 | 2000 | 5~220 | 62~210 |22.7
SC-10H | 10 |273|87 230|250/ 89 | 8 |3-M12|M12x90 | 1,800 | 6~260 | 70~250 [31.8
SC-12H | 12 |310| 96 |260 |285|105| 7 |3-M12|M12x110| 1,800 | 10~300 | 86~290 |44.8
SK-4H 4 |112| 58| 80 |95 |32 |48|3M8 |M8x65 | 2500 | 3~ 95 | 34~ 90 | 38
S| gK-6H | 6 |167|67 |130]147| 45 |55 |aM10|M10x70 | 2000 | 4~160 | 55~150 | 9.0
B, M=
REESED
TET.—D0 SK-7H 7 |192|765| 155|172| 58 |5.5|3-M10/M10x80 | 2,000 | 8~180 | 62~170 |13.8
MCHEIEE
ESHEIED
mADEEE | SK-8H 8 |200|76.5|160|176| 58 |55 |3-M10[{M10x80 | 2,000 | 8~190 | 68~180 |155
[
‘ SK-9H 9 |232| 84 |190|210] 70| 6 |3-M12|M12x90 | 2,000 | 11~220 | 70~210 |22.0
5 N SK-10H | 10 |273| 87 |230|250| 89 | 8 |3-M12|M12%90 | 1,800 | 12~260 | 80~250 [29.7
- \ MERAAR
XEMFIIBLTLERA - Y ~ bt
AR LR A DB TS SK-12H | 12 |310| 96 | 260(285|105| 7 |3-M12[M12x110| 1,800 | 15~300 | 90~290 |435

F\|=—“|IC\<}—I:I4‘.



M % AN S (B4R

A 16,16.17.18.19.20
- DP-1 B 21,2327.29.31.33 31,100m
c 37.39.41,4347.49
P e A 26.28,30,32,34.37,38,39.41,
g DP-2 4344.46.47.49,51,5357.59
g 233,400
. e DP-3
0O KB TU—N ISR, B 61.63,67.69.71.73.77.79.81.
| g;ﬂ[ﬁéﬁgg—&wwm\‘ 83.87.89.91,93.97.99
4
U
j_-
;‘ B 2 B HE (g 1 (Bt
b MT2-FLTO MT-2 180 3,400m
MT3-FLTO MT-3 250 3,700
MT4-FLTO MT-4 480 4,500m

REZELNO SEDREMOBAICED. 7579 (RHO—ILF ru?) ORHUBDI s - FRICTR £

@tz 5#E:S45C (HRC45)
HAZ (mm) =
B ) gg
A B | H | a b | & h

TS-1 165~180 | 64 | 107 |134 | 94 | 16 | 80~108 | 4.0 33,000m
TS-2 170~195 | 64 | 150 |155 | 110 | 16 | 115~145| 5.3 35,0001
TS-3 210~235 | 64 | 205|185 [138 | 16 | 130~205| 7.7 44,000m
TS-4 210~235 | 75 | 260 |205 | 144 | 16 | 182~260| 11.6 54,0001

A Frvo P 3% 2UEX A%

(v | Dd | H B | THEE R
FLT-103-S 3 90 | 60 | 20 20,700m
FLT-104-S 4 113 | 80 | 20 M8x20 M8X10 20,700m
FLT-0-S 5 138 | 100 | 20 18,0001
FLT-1-S 6 170 | 130 | 21 18,0001

M10x25 | M10x14
FLT-2-S 7 195 | 1655 | 24 27,000m
< d
@“ - TT BN ™ FLT-3-S 8 |210|160 | 24 | MIOX30 | MIOx16 27,400m
# o i

fco N FLT-110-S 10 |278 | 230 | 26 | M12x30 | M12x16 69,0001

X ITSVIITEMIVS- THYNMIBLTWEIH, T—JILEDBEHFEDRICEOTIE
BlET — VO TERICIHUCRIVS Ty RBEEEDERT




